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6.1 Matching with Lumped Elements (L Networks) 285
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" FIGURE 6.3  Solution to Example 6,1. (a} Smith chart for the L section matching networks.

the shortest distance from ¥y, to the shifted 1 + Jz circle). Converting back to
impedance leaves us at 5 = 1—51.2, indicating that a series reactance z = j1.2
will bring us to the center of the chart. For comparison, the formulas of (6.3a,b)
give the solution as b= 0.29,z = 1.22.

This matching circuit consists of a shunt capacitor and a series inductor, as
shown in Figure 6.3b. For a frequency of f = 500 MHz, the capacitor has a

value of ’
c=—"_ —09F
- 211'on - L
and the inductor has a value of
= _aggam. -
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